

連乘訣



密語是：

1.	2.	3.	4.
5.	6.	7.	8.
9.	10.	11.	12.
13.	14.	15.	16.
17.			

- $-3 \times 3 \times 3 \times 3 \times 3 \times 3 =$
- $8 \times 8 \times 8 =$
- $9 \times 9 =$
- $(-2) \times (-2) \times (-2) =$
- $25 \times 25 \times 25 \times 25 =$
- $(-7) \times (-7) \times (-7) \times (-7) \times (-7) =$
- $2 \times 2 \times 2 \times 2 \times 2 \times 2 \times 2 \times 2 \times 2 =$
- $-5 \times 5 \times 5 =$
- $-3 \times 3 \times 3 \times 3 \times 3 =$

- $7 \times 7 \times 7 \times 7 \times 7 =$
- $-3 \times 3 =$
- $9 \times 9 \times 9 =$
- $(-3) \times (-3) =$
- $3 \times 3 \times 3 \times 3 \times 3 \times 3 =$
- $(-2) \times (-2) \times (-2) \times (-2) =$
- $3 \times 3 \times 3 \times 3 \times 3 =$
- $5 \times 5 \times 5 \times 5 \times 5 \times 5 \times 5 =$

厶	又	世	𠂇	𠂇	厂	𠂇	彳	𠂇	𠂇	《	尢	𠂇
$(-7)^5$	$(-2)^4$	-5^3	9^2	-3^6	3^8	4^{-2}	$(-5)^7$	-3^2	$(-3)^2$	5^3	3^3	5^2
儿	、	匚	𠂇	𠂇	𠂇	×	𠂇	𠂇	𠂇	𠂇	𠂇	一
8^5	25^4	6^3	5^{-3}	-2^7	4^7	2^9	14^2	$(-3)^8$	7^5	-2^4	2^{12}	3^6
√	、	𠂇	𠂇	𠂇	𠂇	𠂇	𠂇	𠂇	𠂇	𠂇	𠂇	𠂇
4^{25}	$(-2)^3$	-3^5	2^{-3}	6^{-3}	3^5	2^7	-5^2	3	-6^3	3^9	7^3	-5^4